








Vogq by —log y
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a) a* = a’, if and only if x=y

b) log.x=log.y if and only if x=y

log x

c) a%9 = x W (\[‘:L—)z

d) log.a™ = x
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Solve: e®*-3eX+2=0
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Solve: Inx =2
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Solve: logz(bx - 1) = logs(x + 7)

v~ | = X+T

AN ]

12



Solve: 5+2lInx=4

2 2 - ",
VPCVN Lnx |
< € Inyz "2
?—- - ¢ "/z.
X:e C/“ - e
X‘:é X' 0 (I'

13



Solve: 2logs 3x = 4
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Solve: In(x-2)+In(2x-3)=2In x
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You have deposited $500 in an

account that pays %6.75 interest,
compounded continously. How long
will it take your money to double?”
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